EECS3342 System Specification and Refinement
(Winter 2022)

Q&A - Week 1 Lecture

Thursday, January 20
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Announcements
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- Scheduled Labs (TA Zoom)

- Labl (Tutorial and Exercises) released 7/
- Lecture W2 krém Wl W2
- Written Test 1 on Feb. 1
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What would be some real world examples of the

sequential

lconcurrent,

distribute

reactive

programs?
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- What defines the most abstract model? = & 4"4{(,2 :C[ Wors & AY, ¢ (ot
v — . .
Z Does it just satisfy one requirement? 5 A simal ”?2

2bp? Ho Lol

- What dmﬁ}ﬁ@?concre’re model —> LAam,;
- Does(it)satisfy all reqt;iremenfs? - 70/94/? Z% %
-/How do we know what details to add in a subsequenji refinement?
coﬂ’)’j
E [ tiow complex will the models be in this class?
4*»"’"}
\Because you mentioned we will have to do this ourselves? YFS )
- When you are marking our work do you value correctness over| crea’rivi’ry?

- When do we stop adding refinements?
What does it mean to prove a refinement? Will it bg|formal|or informal?
~L> oaoh vef siggls €164
Will you teach us the refinement process in detail? S.




Prove/Disprove Logical Quantifications
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Axiom vs. Theorem A)l = { Z s Zs% s "7 ’H’OS =
f X [ x>0%

co
SETS
o ACCOUNT carrier set: abstract without the need to enumerate content of the set
5

CONSTANTS Wy lo “@( e r,qe Hhoov b

° C credit limit (ENV3 K
(ENV3) . A”ﬁ”’\:or«aﬂf‘

AXIOMS
° axml:| ¢ not theorem »// not theorem means an gxiom; theorem means a proof is needed.
thm1: 0 HJ?J
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Typo on Notes j
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Conjunction to implication?
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